
EG430−7N

EG430−1A

420 470 520 570 620 670

logarithmic. To, Bo, Go, Lo, Ro, Io
logTo =−0,35[uλ−u420]2

logBo =−0,35[uλ−u470]2

logIo =−0,35[uλ−u670]2

uλ=(λ−550)/50
logGo =−0,35[uλ−u520]2

logLo =−0,35[uλ−u570]2

logRo =−0,35[uλ−u620]2

Adaptation
λGR=570
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  0
maximum
log(Lgam)=−0,35
Lgam=0,44
Schwelle
ta=0,00, tb=0,00

EG430−2A S:420, 470, 520

logarithm. Bga, Bgo, To/Bga, Go/Bga
logBga=(logTo+logGo)/2
logBgo=logBga+0,35
log[Bgo, Bga, To/Bga, Go/Bga]

uλ=(λ−550)/50
logTo=−0,35[uλ−u420]2

logGo=−0,35[uλ−u520]2

Adaptation: λTG=470

uλ=(λ−550)/50
logTo=−0,35[uλ−u420]2

logGo=−0,35[uλ−u520]2

Adaptation: λTG=470
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maximum
log(Bgam)=−0,35
Bgam=0,44
Schwelle
ta=0,00, tb=0,00

EG430−3A R:470, 520, 570

logarithm. Gga, Ggo, Bo, Lo-Daten
logGga=(logBo+logLo)/2
logGgo=logGga+0,35
log[Ggo, Gga, Bo, Lo]

uλ=(λ−550)/50
logBo=−0,35[uλ−u470]2

logLo=−0,35[uλ−u570]2

Adaptation: λBL=520

uλ=(λ−550)/50
logBo=−0,35[uλ−u470]2

logLo=−0,35[uλ−u570]2

Adaptation: λBL=520
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log(Ggam)=−0,35
Ggam=0,44
Schwelle
ta=0,00, tb=0,00

EG430−4A S:470, 520, 570

logarithm. Gga, Ggo, Bo/Gga, Lo/Gga
logGga=(logBo+logLo)/2
logGgo=logGga+0,35
log[Ggo, Gga, Bo/Gga, Lo/Gga]

uλ=(λ−550)/50
logBo=−0,35[uλ−u470]2

logLo=−0,35[uλ−u570]2

Adaptation: λBL=520

uλ=(λ−550)/50
logBo=−0,35[uλ−u470]2

logLo=−0,35[uλ−u570]2

Adaptation: λBL=520
470 520 570
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maximum
log(Ggam)=−0,35
Ggam=0,44
Schwelle
ta=0,00, tb=0,00

EG430−5A R:520, 570, 620

logarithm. Lga, Lgo, Go, Ro-Daten
logLga=(logGo+logRo)/2
logLgo=logLga+0,35
log[Lgo, Lga, Go, Ro]

uλ=(λ−550)/50
logGo=−0,35[uλ−u520]2

logRo=−0,35[uλ−u620]2

Adaptation: λGR=570

uλ=(λ−550)/50
logGo=−0,35[uλ−u520]2

logRo=−0,35[uλ−u620]2

Adaptation: λGR=570
520 570 620
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log(Lgam)=−0,35
Lgam=0,44
Schwelle
ta=0,00, tb=0,00

EG430−6A S:520, 570, 620

logarithm. Lga, Lgo, Go/Lga, Ro/Lga
logLga=(logGo+logRo)/2
logLgo=logLga+0,35
log[Lgo, Lga, Go/Lga, Ro/Lga]

uλ=(λ−550)/50
logGo=−0,35[uλ−u520]2

logRo=−0,35[uλ−u620]2

Adaptation: λGR=570

uλ=(λ−550)/50
logGo=−0,35[uλ−u520]2

logRo=−0,35[uλ−u620]2

Adaptation: λGR=570
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log(Lgam)=−0,35
Lgam=0,44
Schwelle
ta=0,00, tb=0,00

EG430−7A R:570, 620, 670

logarithm. Rga, Rgo, Lo, Io-Daten
logRga=(logLo+logIo)/2
logRgo=logRga+0,35
log[Rgo, Rga, Lo, Io]

uλ=(λ−550)/50
logLo=−0,35[uλ−u570]2

logIo=−0,35[uλ−u670]2

Adaptation: λLI=620

uλ=(λ−550)/50
logLo=−0,35[uλ−u570]2

logIo=−0,35[uλ−u670]2

Adaptation: λLI=620
570 620 670
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log(Rgam)=−0,35
Rgam=0,44
Schwelle
ta=0,00, tb=0,00

EG430−8A S:570, 620, 670

logarithm. Rga, Rgo, Lo/Rga, Io/Rga
logRga=(logLo+logIo)/2
logRgo=logRga+0,35
log[Rgo, Rga, Lo/Rga, Io/Rga]

uλ=(λ−550)/50
logLo=−0,35[uλ−u570]2

logIo=−0,35[uλ−u670]2

Adaptation: λLI=620

uλ=(λ−550)/50
logLo=−0,35[uλ−u570]2

logIo=−0,35[uλ−u670]2

Adaptation: λLI=620
570 620 670
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log(Rgam)=−0,35
Rgam=0,44
Schwelle
ta=0,00, tb=0,00


